lll. Excel QIOIE T4 |
IV. Excel H3IAIE TR

/. Excel 4]




PN N (

A
——
A

3
= $A1 EE= AS1E B

~~
c
9
(7]
v
()
S
o
X
Ll
~—

=
(]
Q2
(]
—
~
—_
K

3
K
{K
3
oH
1) n
m ol
=3 K
Bl 80 R
Jjo o
N B
mr W
3l

- 2 E
<

T2 £
w <

X <K
E [ ]

II. Excel GIO|E| CI&7|

« =AVERAGE(2!1,2l%2,...)

« ACFA = SASTE HA

&



2. Mo| 2A 3l 0|

(1) 2 SA

Ml
=
A
£=3
=
LA
o

*H N o
o o

10
uz Ho M
mo [|> mx
2 o of
4o rm H°

> = o oE

> B

o M x

ng rw 4 2
u
mo % M
> Hu rot

4o rm Ho
o JB

i o

5

> I8
o il rx
Mo % 12
L]
rot

JB
iy

4%
Hu

HE27}7| W7ol M SAHS

HE27}7| OO Raty7| S M

3 207

g My

A EH

[N |




It
1o

Bre SAm uupx A

|0 Jp>

~~ o~~~

S od Otod o2
Mg Hug e

Rl
O

o
m Jo
N

Aod _\II_H:| ofn
R
N
I'.E|.o

[e]
o%
°

mo lo

N

{o
1>

=

=
40
N

a}
o

N rir
rrJp Jio
= o [
A

H

Oz

Mo
A
111

M
>
T

3
rir

i

| 152 Ol Zo|Lh 9EZ 0= C2TsHH 57} Hl0|E|7} YHED
Z4 HolE7t Y2g

&

14
L=

L

o

of2fof A=
AlOlS
HHJ

>
-
o
\J

.

s Ir 10 ot rjo
M

1z
mjo 2=
rx

uﬂ@

I

S2 0192 ZOIE
20| RS 1 27|

JZo|t AZoR




)

b olHY| 1EEE

A/229| M= (zlol
A
o

e
=13
o

6. X ¥ot7|et 227

o

|2 E{ 2| et ot

e

e XLOf| A 2

2

K
|
10
KO
3
I
ol
<r
160
o
-
o
N
o
O
X
=
<r
160
ol
E]

X%

HE xIsxO|H

A

= MEISHH LEEFL
Excel 20132]

T}l ol X{Zof
Excel 200

AHE FX| %o® XRHEHOE xisx2ts EEXI7} 20iE

SRt

H| o] my

| .
[ -

Excel 97-2003 SS=AME MEHSIH |

SR xi

(2) =227




J

IV. Excel 93 A|E C}E7|

CHAAE Y R AH

g EAM0 HIAMES F7tstaxt

s
SEMOIM B HIAE

eixiel
I
F2707] ool M AHE &

sixjo

2ol S
ﬂ°|_|'-|-

E
S
E
S

H

L YINE BA Y O[S

Mol IS A ES SAIStAxt & I
HI27}7] HwollM O] S/SAE 2
0| S/S At CHEHEXIO| M ASHE HIAES| H2 2 FAS|
= US7|& N3t (@) &S FEH FAE0

dizfe] SSEMOM HIAES O] Sstuxt & If
< HIZ7}7| Hw0M Ol S/SAE 2

0| 5/ AL CHRHS A0 M A= HIAES| R2 = 0| S5t
= FE28 1 {3ME %2 0|FH

. H3IME o|F HE

= =
2% o

S2(E£= shift+F11)

22




4. 9ANE 289 AR

QI3 A|E o] 0| X|0f Z2 h|0|E{E BHoj| of2{ H 0| X|2| HA
S AR 03 A|EE FOA ALE

0| 2 S0, sheet10|M sheetd”tX]| F/7| A= sheet10|A| ShiftE +E Xl sheet4dE +
El A|E BHO| 5}QF HOo 2 H}E

st Mo AR E YT S EnterS AW SO{T HO|X|0f A0 GIO|E{7} YHE




2 FaUs a5y

B5+B6 :
SUM(B5:B10) :
B5-"1A}

7|"1B5 : CIE A|E9|

=
(L.

LH
[~

LtE}

= condZ} AHAMO|H x, AXIO|H y&

=gt &+ F =1F(cond,x,y)

60, "PASS","FAIL") (F540il 9l 2tO] 60 O] 40| “PASS”0| 11, JYX| ZOH “FAIL")

IF(F5> =

K
o
J
o
Bl
o
<0
=)
o
)
~~ 0=
~~
=~V
'Fl
u:.mu
n o
u:...A.o
)
T

AR
5 -
ml\n
o &
o o
S S
~ <0
n s
A o
2 ©
e

b "
-
B‘
u:.mu
& o
' @
n ©
L o
L o
u:m
< R
S 1l
N =<
A
L S
o X
- n
Ll
A

&l
ol

F27|(Edit key)E +2

AMl=2
=23

StXt Sf=

8




